


L 2 4

400

Sgus oo Chmogs dlins > Jule pb 4 Bua i Jole 95 Juad ol 0 U

ollas slacdls 4 a5 Sbladl 5l Slaaid, 0,5 loo b aliise | Jole G U
a2d pledl 1) Jos az a5 0,5 0 puendl (Aigd o e

Wgd g0 s £ 90 4 altns Jo sl 51 U

i 0,0 SO g a5 slapi 65 (4,65 155) wlalETl ol 5 ™
(Fad eed Slapi)o50) o) o 52 0 05l

0iS o ooliiul At ol Lils a5 lea s alelST ol oS
(plezr Jad slap 65N

2/35



S elde g Slad

S bl > 5 SlaliBl 590 10 (6 S el Syl alins 45,5 alge

Bad 4 9,0 > 5l a4 Sleladl 5l sladlss) ooy 40,5 T ol g
(S 5

0y QLQM.‘; lolodl QJ; ‘):>| ‘):>‘

3/35



Oradea

71
Zerind
75 151
. 140
Sibiu 99 Fagaras
118
80
Timis Rimnicu Vilcea
o . 211

111 Lugoj Pitesti

70
Mehadia 101

75 138

Drobeta 120

Craiova

Neamt
87
lasi
92
Vaslui
142
8
0 Hirsova
83 ..
Urziceni
86
Bucharest
90
e s Eforie
Giurgiu

4/35



Slog, sl

CwyBu 40 409 i8ul 10,5 aeo s U

i LgLQ).Q..i):me;Jb "

EYVIVIRTRGA S PR
(w)l?u cu»lf)lé ( Gorirnd @‘j : ) Ltb).e‘.w )‘ sldlss PEIONC d

AW ‘J..»..: J.>o‘) LS‘)'?" :‘).?J d

5/35



oo Jo> 08l Jols S

function SIMPLE-PROBLEM-SOLVING-AGENT( percept) returns an action
persistent: seq, an action sequence, initially empty
state, some description of the current world state
goal, a goal, initially null
problem, a problem formulation

state < UPDATE-STATE(state, percept)
if seq is empty then
goal — FORMULATE-GOAL(state)
problem «— FORMULATE-PROBLEM(state, goal)
seq < SEARCH( problem)
if seq = failure then return a null action
action «— FIRST(seq)
seq +— REST(seq)
return action
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function TREE-SEARCH( problem) returns a solution, or failure
initialize the frontier using the initial state of problem
loop do
if the frontier is empty then return failure
choose a leaf node and remove it from the frontier
if the node contains a goal state then return the corresponding solution
expand the chosen node, adding the resulting nodes to the frontier
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BFS 4IDS awlic

O, 98 lawed oud ades glao,S S olows sl d=5 4 b=10 wus 5 O

» N,ps =50 + 400 + 3,000 + 20,000 + 100,000 = 123,450
> Nggs = 10 + 100 + 1,000 + 10,000 + 100,000 = 111,110

> (123,450 —-111,110) / 111,110 = 11%
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SLETH oxmine s 3wl awslic

Criterion Breadth- Uniform- Depth- Depth- Iterative Bidirectional
First Cost First Limited  Deepening  (if applicable)
Complete? Yes® Yes®? No No Yes® Yes®4
Time O(b%) obLe /ey om™) O(b%) O(b%) O(b%/2)
Space o(b%) oLLe /ey O(bm)  O(be) O(bd) O(b4/?)
Optimal? Yes® Yes No No Yes¢ Yes¢:d

a Complete if b is finite

b Complete if step cost 2 £€>0

c Optimal if step costs are equal
d If both directions use BFS
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